BID TABULATION								
BID NO: 2300028								
COMPUTER INFRASTRUCTURE UPGRADES								
BASIS OF AWARD			SYMQUEST GROUP INC		INVISION SOURCE LLC		SHI INTERNAT	IONAL CORP
Default bid group.								
Description	Quantity	Unit	Unit Price	Sub Total	Unit Price	Sub Total	Unit Price	Sub Total
C9200CX-12P-2X2G-E Catalyst 9000 Compact Switch 12- Port PoE+, 240W, Essentials Cisco Systems-	4.00	EACH	\$1,512.00000	\$6,048.00	\$2,967.32000	\$11,869.28	\$907.34000	\$3,629.3
C9200CX-DNAE12-3Y C9200CX Cisco DNA Essentials, 3Y Term License, 12P Cisco Systems	4.00	EACH	\$255.00000	\$1,020.00	\$29.58000	\$118.32	\$111.93000	\$447.7
C9K-CMPCT-PWR-CLP Power Retainer Clip for 9200 CX Compact Switch Cisco Systems	4.00	EACH	\$21.00000	\$84.00	\$157.00000	\$628.00	\$12.72000	\$50.8
CON-SNT-C920CXPO SNTC-8X5XNBD Catalyst 9000 Compact Switch 12-Port PoE Cisco Systems	2.00	EACH	\$161.00000	\$322.00	\$53.23000	\$106.46	\$561.23000	\$1,122.4
C9K-WALL-TRAY Wall Mount Bracket for 9200CX Compact Switch Cisco Systems	2.00	EACH	\$38.00000	\$76.00	\$53.23000	\$106.46	\$22.46000	\$44.93
C9K-CMPCT-DESK-MNT Under Desk Mount for 9200CX Compact Switch Cisco Systems	2.00	EACH	\$38.00000	\$76.00	\$70.00000	\$140.00	\$22.89000	\$45.7
F1MCP32LCST FIS Mode Conditioning Cord LC-ST MM 62.5um 3 Meter Fiber Instrument Sales Inc	24.00	EACH	\$1,680.00000	\$40,320.00	\$73.00000	\$1,752.00	\$77.00000	\$1,848.0
F1MCP52STST FIS Mode Conditioning Cord ST-ST MM 62.5um 5 Meter	4.00	EACH	\$70.00000	\$280.00	\$28.65000	\$114.60	\$80.30000	\$321.2
EFNT010-003M-LCLC 10 GIG OPTIMIZED FIBER PATCH LC/LC 3M BLACKBOX - IP CORPORATION	8.00	EACH	\$18.00000	\$144.00	\$19.50000	\$156.00	\$16.37000	\$130.9
ADD-SC-LC-2M5OM4 ADDON 2M LC TO SC OM4 Aqua Patch Cable – Patch cable -SC multi-mode (M) to LC multi-mode (M) – 2m – fiber optic – duplex – 50/125 micron – OM4- halogen-free-aqua	4.00	EACH	\$18.00000	\$72.00	\$31.50000	\$126.00	\$13.49000	\$53.90
ADD-SC-LC-10M5OM4 Addon 2M LC TO SC OM4 Aqua Patch Cable – Patch cable -SC multi-mode (M) to LC multi- mode (M) – 2m – fiber optic – duplex – 50/125 micron – OM4- halogen-free-aqua	2.00	EACH	\$25.00000	\$50.00	\$3,300.00000	\$6,600.00	\$21.79000	\$43.5
AP9641 APC Network Management Card 3 with PowerChute Network Shutdo APC by Schneider Electric –	6.00	EACH	\$581.00000	\$3,486.00	\$17.00000	\$102.00	\$432.00000	\$2,592.0
43386 2m (7ft) LC to SC OM2 Moe Conditioning PVC (OFNR) Fiber Optic Patch Cable FS.com/nc Part	12.00	EACH	\$72.00000	\$864.00	\$204.46000	\$2,453.52	\$19.99000	\$239.8
FO10G-010M-LCLC Black Box Value Line 10-GbE-Patch cable -LC Multi-mode (M) to LC mulit-mode (M)- 10m – fiber optic-50 micron-aqua.	1.00	EACH	\$17.00000	\$17.00	\$0.00001	\$0.00	\$16.80000	\$16.8
142-BBCG Recoverpoint for VMS TIER 1=1B	35.00	EACH	\$585.00000	\$20,475.00	\$8,237.00000	\$288,295.00	\$259.68000	\$9,088.8
151-BBXE VXRAIL Vmware Vshphere Enterprise Plus for 1 Processor, 5 Years	5.00	EACH	\$0.00001	\$0.00	\$21,138.00000	\$105,690.00	\$2,409.41000	\$12,047.0
210-APHT Dell EMC S5224F-ON Switch, 24x 25GbE SFP28, 4x 100GbE QSFP28 ports, PSU to IO air, 2x PSU, OS10	2.00	EACH	\$6,143.00000	\$12,286.00	\$11,154.22000	\$22,308.44	\$5,039.82000	\$10,079.6
210-BBGT VXRAIL P670F, All Flash Dell	5.00	EACH	\$6,795.00000	\$33,975.00	\$1,050.00000	\$5,250.00	\$2,889.60000	\$14,448.0

321-BGLQ 2.5" Chassis with up to 24 HDDS (SAS/SATA) including 4 Universal Slots for 1CPU	5.00	EACH	\$640.00000	\$3,200.00	\$194.29000	\$971.45	\$1,360.04000	\$6,800.20
Configuration								
325-BDYT VXRAIL 2U BEZEL V2	5.00	EACH	\$119.00000	\$595.00	\$55.00000	\$275.00	\$50.34000	\$251.70
329-BHKH VxRail P670F Branding	5.00	EACH	\$34.00000	\$170.00	\$549.00000	\$2,745.00	\$14.26000	\$71.30
330-BBZS VxRail P670F, Riser Config 8, 1B+2A, Single CPU	5.00	EACH	\$334.00000	\$1,670.00	\$4,819.00000	\$24,095.00	\$160.60000	\$803.00
338-CBCJ Intel Xeon Gold 6338 2G, 32C/64T, 11.2GT/s, 48M Cache, Turbo, HT (205W) DDR4-3200	5.00	EACH	\$2,936.00000	\$14,680.00	\$4.00000	\$20.00	\$1,409.61000	\$7,048.05
343-BBLP Dell EMC S52XX-ON Series User Guide	2.00	EACH	\$2.00000	\$4.00	\$3,055.00000	\$6,110.00	\$0.96000	\$1.92
370-AEVP 64GB RDIMM, 3200MT/s, Dual Rank	40.00	EACH	\$1,861.00000	\$74,440.00	\$489.00000	\$19,560.00	\$893.62000	\$35,744.80
385-BBQV iDRAC9, Enterprise 15G	5.00	EACH	\$298.00000	\$1,490.00	\$3,364.49000	\$16,822.45	\$143.04000	\$715.20
400-AXSK 3.84TB SSD SATA Read Intensive 6Gbps 512 2.5in Hot-plug AG Drive, 1 DWPD,	50.00	EACH	\$2,050.00000	\$102,500.00	\$3,938.02000	\$196,901.00	\$984.15000	\$49,207.50
400-AZJR 800GB SSD SAS ISE Write Intensive 12Gbps 512e 2.5in Hot-plug AG Drive, 10 DWPD,	10.00	EACH	\$2,400.00000	\$24,000.00	\$1,699.00000	\$16,990.00	\$1,152.10000	\$11,521.00
403-BCMB BOSS-S2 controller card + with 2 M.2 480GB (RAID 1)	4.00	EACH	\$1,035.00000	\$4,140.00	\$719.00000	\$2,876.00	\$621.22000	\$2,484.88
405-AAXY Dell HBA355i Controller Front	5.00	EACH	\$438.00000	\$2,190.00	\$99.00000	\$495.00	\$210.31000	\$1,051.55
412-AAWF Heatsink for 1 CPU configuration (CPU greater than or equal to 165W)	5.00	EACH	\$61.00000	\$305.00	\$20.00000	\$100.00	\$28.96000	\$144.80
450-AAFH Power Cord, 125V, 15A, 10 Feet, NEMA 5- 15/C13	4.00	EACH	\$6.00000	\$24.00	\$1,429.00000	\$5,716.00	\$4.78000	\$19.12
450-AKKS Dual, Hot-Plug, Redundant Power Supply (1+1)1100W Mixed Mode Titanium	5.00	EACH	\$871.00000	\$4,355.00	\$99.00000	\$495.00	\$417.99000	\$2,089.95
461-AAIG Trusted Platform Module 2.0 V3	5.00	EACH	\$61.00000	\$305.00	\$310.00000	\$1,550.00	\$28.96000	\$144.80
470-ABOU Dell Networking Cable, 100GbE QSFP28 to QSFP28, Passive Copper Direct Attach Cable, 0.5 Meter	2.00	EACH	\$0.00100	\$0.00	\$125.00000	\$250.00	\$73.92000	\$147.84
470-ACEV Dell Networking, Cable, SFP28 to SFP28, 25GbE, Passive Copper Twinax Direct Attach Cable, 3 Meter	20.00	EACH	\$77.00000	\$1,540.00	\$50.00000	\$1,000.00	\$36.56000	\$731.20
470-AERR BOSS Cables and Bracket for R750 (Riser 1)	5.00	EACH	\$31.00000	\$155.00	\$99.00000	\$495.00	\$14.62000	\$73.10
481-BBFG Poweredge R750 Shipping Material	5.00	EACH	\$61.00000	\$305.00	\$22.00000	\$110.00	\$28.96000	\$144.80
492-BBDI C13 to C14, PDU Style, 12 AMP, 6.5 Feet (2m) Power Cord, North America	10.00	EACH	\$14.00000	\$140.00	\$709.00000	\$7,090.00	\$6.42000	\$64.20
540-BCOC Broadcom 57414 Dual Port 10/25GbE SFP28, OCP NIC 3.0	5.00	EACH	\$432.00000	\$2,160.00	\$709.00000	\$3,545.00	\$207.39000	\$1,036.95
540-BDGV Broadcom 57414 Dual Port 10/25GbE SFP28 Adapter, PCIe Low Profile, V2	5.00	EACH	\$432.00000	\$2,160.00	\$2,250.08000	\$11,250.40	\$207.39000	\$1,036.95
634-BRIJ VXRAIL HCI System Software, Capacity Drive 3.84TB SATA SSD	10.00	EACH	\$1,371.00000	\$13,710.00	\$3,499.00000	\$34,990.00	\$3,290.86000	\$32,908.60
634-BRWJ OS10 Enterprise, S5224F-ON	2.00	EACH	\$1,017.00000	\$2,034.00	\$631.41000	\$1,262.82	\$834.25000	\$1,668.50
634-BYLZ VxRail HCI System Software Memory, 64GB	40.00	EACH	\$385.00000	\$15,400.00	\$19,038.00000	\$761,520.00	\$184.70000	\$7,388.00
634-BYPD VxRail HCI System Software, E	5.00	EACH	\$7,925.00000	\$39,625.00	\$0.00001	\$0.00	\$3,805.58000	\$19,027.90
634-BZEI VXRAIL Windows Server 2022/2019 Data Center Edition, Add lo	5.00	EACH	\$4,260.00000	\$21,300.00	\$6,992.21000	\$34,961.05	\$2,045.30000	\$10,226.50

634-BZEN VXRAIL WINDOWS SERVER 2022 Datacenter, 16core, secondary OS, NO media, Unlimited VMS	5.00	EACH	\$4,260.00000	\$21,300.00	\$6,992.21000	\$34,961.05	\$2,045.30000	\$10,226.50
634-BZEO VXRAIL 50-Pack of Windows Server 2022/2019 User Cals (Standard or Datacenter)	8.00	EACH	\$2,026.00000	\$16,208.00	\$289.00000	\$2,312.00	\$1,076.59000	\$8,612.72
750-ADGJ Very High Performance Fan x6	5.00	EACH	\$177.00000	\$885.00	\$149.00000	\$745.00	\$84.53000	\$422.65
770-BBBQ ReadyRails Sliding Rails	5.00	EACH	\$91.00000	\$455.00	\$69.00000	\$345.00	\$43.58000	\$217.90
770-BDRQ Cable Management Arm, 2U	5.00	EACH	\$43.00000	\$215.00	\$4,971.95000	\$24,859.75	\$20.18000	\$100.90
804-2152 ProDeploy Plus Dell Networking S Series 5XXX Switch - Deployment	2.00	EACH	\$6,087.00000	\$12,174.00	\$45.29000	\$90.58	\$6,240.29000	\$12,480.58
804-2153 ProDeploy Plus Dell Networking S Series 5XXX Switch - Deployment Verification	2.00	EACH	\$56.00000	\$112.00	\$200.00000	\$400.00	\$56.84000	\$113.68
812-4011 ProDeploy Plus No Charge Training 200	5.00	EACH	\$251.00000	\$1,255.00	\$500.00000	\$2,500.00	\$245.40000	\$1,227.00
812-4037 ProDeploy Plus No Charge Training 500	2.00	EACH	\$613.00000	\$1,226.00	\$499.00000	\$998.00	\$627.55000	\$1,255.10
818-4983 Dell Hardware Limited Warranty 1 Year	2.00	EACH	\$145.00000	\$290.00	\$1,109.82000	\$2,219.64	\$118.97000	\$237.94
818-4996 ProSupport:Next Business Day Onsite Service After Problem Diagnosis, 1 Year	4.00	EACH	\$3.00000	\$12.00	\$9.54000	\$38.16	\$2.28000	\$9.12
818-4998 ProSupport:Next Business Day Onsite Service After Problem Diagnosis, 4 Years Extended	2.00	EACH	\$323.00000	\$646.00	\$5,164.32000	\$10,328.64	\$264.61000	\$529.22
818-5018 ProSupport:7x24 HW/SW Technical Support and Assistance, 5 Years	2.00	EACH	\$1,501.00000	\$3,002.00	\$0.00001	\$0.00	\$1,231.31000	\$2,462.62
819-2575 ProDeploy Plus Dell EMC VxRail Deployment	5.00	EACH	\$4,147.00000	\$20,735.00	\$3,313.34000	\$16,566.70	\$4,065.44000	\$20,327.20
819-2576 ProDeploy Plus Dell EMC VxRail Deployment Verification	5.00	EACH	\$210.00000	\$1,050.00	\$7,895.00000	\$39,475.00	\$205.18000	\$1,025.90
823-4117 ProSupport Mission Critical, vSAN, Enterprise, 1 Processor, 5 Years	5.00	EACH	\$4,810.00000	\$24,050.00	\$2,265.60000	\$11,328.00	\$2,309.38000	\$11,546.90
823-8983 ProDeploy Dell EMC ReoverPoint for Virtual Machines	5.00	EACH	\$3,263.00000	\$16,315.00	\$1,254.40000	\$6,272.00	\$3,270.67000	\$16,353.35
823-8984 ProDeploy Dell EMC Recoverpoint for Virtual Machines Deployment Verification	6.00	EACH	\$1,536.00000	\$9,216.00	\$1,224.65000	\$7,347.90	\$1,539.14000	\$9,234.84
848-8539 5 Years ProSupport OS10 Enterprise Software Support-Maintenance	2.00	EACH	\$356.00000	\$712.00	\$8,683.57000	\$17,367.14	\$291.98000	\$583.96
863-1708 5 Years ProSupport Mission Critical vSphere Ent Plus for 1 Proc Sftwr Spt-Maint	5.00	EACH	\$0.00001	\$0.00	\$1,426.00000	\$7,130.00	\$2,540.04000	\$12,700.20
865-3500 5 Years Prosupport Mission Critical Recover Point for Virtual Machines Tier 1 SFTWR SPT-MAINT	35.00	EACH	\$673.00000	\$23,555.00	\$648.90000	\$22,711.50	\$298.63000	\$10,452.05
878-0273 Dell Hardware Limited Warranty	5.00	EACH	\$396.00000	\$1,980.00	\$6,651.00000	\$33,255.00	\$189.82000	\$949.10
878-0941 Prosupport Mission Critical 4-Hour 7X24 Onsite Service	5.00	EACH	\$4,052.00000	\$20,260.00	\$2,434.00000	\$12,170.00	\$1,945.49000	\$9,727.45
878-0942 ProSupport Mission Critical 4-Hour 7x24 Onsite Service with Emergency Dispatch 3 Years	5.00	EACH	\$1,483.00000	\$7,415.00	\$34,025.00000	\$170,125.00	\$711.97000	\$3,559.85
878-0945 ProSupport Mission Critical 7x24 Technical Support and Assistance 5 Years	5.00	EACH	\$20,726.00000	\$103,630.00	\$1,240.00000	\$6,200.00	\$9,952.72000	\$49,763.60
ALTERNATE-142-BBCG RECOVERPOINT FOR VMS TIER 1=1B	25.00	EACH	\$0.00001	\$0.00	\$1,240.00000	\$31,000.00	\$0.01000	\$0.25
ALTERNATE- 865-3500 5 YEARS PROSUPPORT MISSION CRITICAL REVOER POINT FOR VIRTUAL MACHINES TIER 1 SFTWR SPT-MAINT	25.00	EACH	\$0.00001	\$0.00	\$673.00000	\$16,825.00	\$0.01000	\$0.25

Default bid group. SubTotal	\$104,408.00104	\$738,890.00	\$196,524.78003	\$2,075,583.31	\$70,509.62000	\$432,926.13
Grand Total	\$104,408.00104	\$738,890.00	\$196,524.78003	\$2,075,583.31	\$70,509.62000	\$432,926.13